Bid Tabulation Report from Carson City Purchasing & Contracts 775-283-7137/Fax: 775-887-2107 sscott@carson.org

http://www.carson.org/index.aspx?page=998

Notice to Contractors Bid# 1011-201 North/South Water Transmission Main Project-Phase II

Date and Time of Bid Opening: March 31, 2011 @ 11:10 a.m.

De	scription	Bidder # 10		Bidder # 11			
		Las Vegas Paving		Harbor Company Inc			
BOI	NDING Provided, \$, %, or no			Corporation 5%		Harber Company, Inc. 5%	
	EFERENTIAL Bidder Status			N/A		N/A	
_	DER acknowledges receipt addendums	0		3 3			
Description		Sched Value	Unit	Unit price	Total price	Unit price	Total Price
SCHEDULE A: 24-INCH WATER LINE WORK							
1	Mobilization, Demobilization and Clean-up (SP 2.2.1)	1	LS	\$396,623.00	\$396,623.00	\$532,000.00	\$532,000.00
2	Clearing and Grubbing (SP 2.2.3)	265,000	SF	\$0.05	\$13,250.00	\$0.50	\$132,500.00
3	Excavate and Export (SP 2.2.4) (Contingent Item)	4,000	CY	\$6.00	\$24,000.00	\$25.00	\$100,000.00
4	Excavate and Fill (SP 2.2.4)	8,900	CY	\$20.00	\$178,000.00	\$12.00	\$106,800.00
5	15-inch SDR 35 PVC Storm Drain, Complete and in Place (SP 2.6.8)	76	LF	\$100.00	\$7,600.00	\$140.00	\$10,640.00
6	15-inch CMP Storm Drain, Complete and in Place (SP 2.6.8)	49	LF	\$85.00	\$4,165.00	\$120.00	\$5,880.00
7	15-inch CMP Storm Drain w/ Flared End Sections, Complete and in Place (SP 2.6.8)	97	LF	\$95.00	\$9,215.00	\$130.00	\$12,610.00
8	18-inch CMP Storm Drain, Complete and in Place (SP 2.6.8)	50	LF	\$110.00	\$5,500.00	\$110.00	\$5,500.00
9	24-inch CMP Storm Drain, Complete and in Place (SP 2.6.8)	112	LF	\$90.00	\$10,080.00	\$130.00	\$14,560.00
10	21"x15" CMP Storm Drain w/Flared End Sections, Complete and in Place (SP 2.6.8)	60	LF	\$135.00	\$8,100.00	\$125.00	\$7,500.00
11	15-inch Class III or Class IV RCP Storm Drain, Complete and in Place (SP 2.6.8)	390	LF	\$125.00	\$48,750.00	\$65.00	\$25,350.00

			1 1				Ī
12	15-inch Class IV RCP Storm Drain w/Flared End Sections, Complete and in Place (SP 2.6.8)	40	LF	\$510.00	\$20,400.00	\$150.00	\$6,000.00
13	30-inch Class III or Class IV RCP Storm Drain w/Flared End Section, Complete and in Place (SP 2.6.8)	40	LF	\$565.00	\$22,600.00	\$180.00	\$7,200.00
14	Outlet Structure and Appurtenances, Complete and in Place (SP 2.6.9)	1	LS	\$12,000.00	\$12,000.00	\$12,500.00	\$12,500.00
15	Remove Existing Curb Inlet and Construction Type 4R Catch Basin, Complete and in Place (SP 2.5.3)	2	EA	\$5,000.00	\$10,000.00	\$3,200.00	\$6,400.00
16	Type 200 Drop Inlet, Complete and in Place (SP 2.6.9)	2	EA	\$6,000.00	\$12,000.00	\$1,000.00	\$2,000.00
17	24-inch Precast Drop Inlet, Complete and in Place (SP 2.6.9)	2	EA	\$1,800.00	\$3,600.00	\$1,200.00	\$2,400.00
18	36-inch Precast Drop Inlet, Complete and in Place (SP 2.6.9)	4	EA	\$2,600.00	\$10,400.00	\$1,850.00	\$7,400.00
19	Type 1 PCC Median Curb, Complete and in Place (SP 2.2.6)	234	LF	\$18.00	\$4,212.00	\$20.00	\$4,680.00
20	Type 2 PCC Median Curb, Complete and in Place (SP 2.2.6)	1,183	LF	\$17.00	\$20,111.00	\$15.00	\$17,745.00
21	PCC Median Paving, Complete and in Place (SP 2.2.6)	4.697	SF	\$8.50	\$39,924.50	\$7.00	\$32,879.00
22	Type 1 PCC Curb and Gutter, Complete and in Place (SP 2.2.6)	635	LF	\$18.00	\$11,430.00	\$35.00	\$22,225.00
23	Overexcavate Unsuitable Material and Backfill (SP 2.2.4) (Contingent Item))	4,000	CY	\$30.00	\$120,000.00	\$50.00	\$200,000.00
24	Pulverization of Existing Roadbed, Complete and in Place (SP 2.2.12)	534,065	SF	\$0.50	\$267,032.50	\$0.35	\$186,922.75
25	6" Type 2, Class B, Aggregate Base Access Road, Complate and in Place (SP 2.2.5)	350	CY	\$42.00	\$14,700.00	\$50.00	\$17,500.00
25A	Type 2, Class B, Aggregate Base, Complete and in Place (SP 2.2.5) (Contingent Item)	5,000	CY	\$23.00	\$115,000.00	\$45.00	\$225,000.00
26	3" Plantmix Bituminous Pavement Type 2 Agg., PG 64-28NV on 6" Aggregate Base, Multi-Use Path, Complete and in Place (SP 2.2.7)	62,175	SF	\$3.00	\$186,525.00	\$2.75	\$170,981.25
27	64-28NV on 6" Pulverized Material, Complete and in Place (SP 2.2.7)	395,000	SF	\$1.50	\$592,500.00	\$2.50	\$987,500.00
28	64-28NV on 8" Pulverized Material, Complete and in Place (SP 2.2.7)	139,065	SF	\$2.30	\$319,849.50	\$3.00	\$417,195.00
29	PCC Curb Ramps and Apron, Complete and in Place (SP 2.2.6)	3	EA	\$1,610.05	\$4,830.15	\$4,200.00	\$12,600.00
30	PCC Sidewalk, 4-inch Thickness, Complete and in Place (SP 2.2.6)	411	SF	\$7.00	\$2,877.00	\$15.00	\$6,165.00
31	Street Light Foundation and Appurtenances, Complete and in Place (SP 2.2.11)	1	EA	\$5,000.00	\$5,000.00		\$3,500.00

32	4" SCH 40 PVC Conduit and Appurtenances, Complete and in Place (SP 2.6.3)	58,100	LF	\$3.00	\$174,300.00	\$3.00	\$174,300.00
33	#7 Fiber Optic Pull Box, Complete and in Place (SP 2.6.3)	27	EA	\$1,600.00	\$43,200.00	\$1,500.00	\$40,500.00
34	#9 Fiber Optic Pull Box, Complete and in Place (SP 2.6.3)	15	EA	\$2,300.00	\$34,500.00	\$2,000.00	\$30,000.00
35	Permanent Pavement Paint (4-inch Solid White), Complete and in Place (SP 2.2.9)	9,083	LF	\$0.45	\$4,087.35	\$1.00	\$9,083.00
35A	Permanent Pavement Paint (4-inch Broken Yellow), Complete and in Place (Sp 2.2.9)	2,860	LF	\$0.30	\$858.00	\$1.00	\$2,860.00
36	Permanent Pavement Paint (4-inch Double Yellow), Complate and in Place (SP 2.2.9)	1,790	LF	\$1.00	\$1,790.00	\$1.50	\$2,685.00
37	Permanent Pavement Paint (4-inch Solid Yellow w/4-inch Broken Yellow), Complete and in Place (SP 2.2.9)	680	LF	\$1.00	\$680.00	\$1.50	\$1,020.00
38	Permanent Pavement Paint (8-inch Solid White), Complete and in Place (SP 2.2.9)	1,700	LF	\$1.00	\$1,700.00	\$2.00	\$3,400.00
39	Permanent Pavement Paint (8-inch Broken White), Complete and in Place (SP 2.2.9)	240	LF	\$1.00	\$240.00	\$2.00	\$480.00
40	Permanent Pavement Paint (8-inch Solid Yellow), Complete and in Place (SP 2.2.9)	50	LF	\$15.00	\$750.00	\$2.00	\$100.00
41	Permanent Pavement Paint (24-inch Solid White), Complete and in Place (SP 2.2.9)	225	LF	\$15.00	\$3,375.00	\$4.00	\$900.00
42	Permanent Pavement Paint (Turn Arrow White Symbol), Complete and in Place (SP 2.2.9)	15	EA	\$175.00	\$2,625.00	\$100.00	\$1,500.00
43	Permanent Pavement Paint ("ONLY" White Symbol), Complete and in Place (SP 2.2.9)	8	EA	\$135.00	\$1,080.00	\$100.00	\$800.00
44	Permanent Pavement Paint (Triangle Yield White Symbol), Complete and in Place (SP 2.2.9)	5	EA	\$90.00	\$450.00	\$100.00	\$500.00
45	Permanent Pavement Paint (Merge Arrow White Symbol), Complete and in Place (SP 2.2.9)	3	EA	\$300.00	\$900.00		\$300.00
46	Signage, Complete and in Place (SP 2.2.10)	1	LS	\$12,500.00	\$12,500.00	\$25,000.00	\$25,000.00
47	Traffic Control, Complete and in Place (SP 2.2.2)	1	LS	\$75,000.00	\$75,000.00	\$200,000.00	\$200,000.00
48	48-inch Sanitary Sewer Manhole, Complete and in Place (SP 2.4.3)	24	EA	\$2,700.00	\$64,800.00	\$3,500.00	\$84,000.00
49	4-inch SDR 35 PVC Sewer Lateral, Complete and in Place (SP 2.4.5)	65	EA	\$2,500.00	\$162,500.00	\$1,000.00	\$65,000.00
50	8-inch SDR 35 PVC Sewer Main, Complete and in Place (SP 2.4.4)	6,332	LF	\$57.00	\$360,924.00	\$40.00	\$253,280.00
51	Adjust Existing Valve Box to New Finish Grade (SP 2.2.8)	1	EA	\$550.00	\$550.00	\$300.00	\$300.00
52	Air Release Valve Assembly (size per plan), Complete and in Place (SP 2.3.5)	26	EA	\$6,100.00	\$158,600.00	\$12,000.00	\$312,000.00

53	Permanent Flush Valve Assembly (size per plan), Complete and in Place (SP 2.3.5)	9	EA	\$11,000.00	\$99,000.00	\$12,500.00	\$112,500.00
54	8-inch Gate Valve, Complete and in Place (SP 2.3.4)	4	EA	\$1,800.00	\$7,200.00	\$2,500.00	\$10,000.00
55	24-inch Butterfly Valve, Complete and in Place (SP 2.3.4)	18	EA	\$9,300.00	\$167,400.00	\$8,000.00	\$144,000.00
56	18" Flow Meter Station and Appurtenances, Complete and in Place (SP 2.3.6)	1	LS	\$59,000.00	\$59,000.00	\$70,000.00	\$70,000.00
57	16" Flow Meter Station and Appurtenances, Complete and in Place (SP 2.3.6)	1	LS	\$52,000.00	\$52,000.00	\$60,000.00	\$60,000.00
58	12" and 16" Flow Control Station and Appurtenances, Complete and in Place (SP 2.3.6)	1	LS	\$172,000.00	\$172,000.00	\$200,000.00	\$200,000.00
59	8-inch PVC C900 Water Main CL 125 and Appurtenances, Complete and in Place (SP 2.3.3)	456	LF	\$86.00	\$39,216.00	\$65.00	\$29,640.00
59A	24-inch PVC C905 Water Main CL 125 and Appurtenances, Complete and in Place (SP 2.3.3)	29,000	LF	\$156.00	\$4,524,000.00	\$167.00	\$4,843,000.00
То	tal Bid Price:	\$8,7	725,500.00	0.00 \$9,979,281.00			
	al Bid Price written in words? y/n	Yes Yes					
	der Information provided? v/n o Contractors listed? y/n or none		<u>'es</u> 'es	Yes Yes			
	Bid Document executed? y/n				es Yes		
END OF DOCUMENT							